Bidders must state and identify the product offered, such as manufacturer's name, trade name, brand name and quality next to each item. WE MUST KNOW WHAT HAS BEEN OFFERED.

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract.

YES	NO_	_X	_		
Delivery t	o be m	ade to:	City of Worce	<u>ester</u>	
This Bid i	nclude	s adden	da numbered	all	

## NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!

Pricing for Brush/Debris Removal and Boarding/Securing of Properties / Inspectional Services

### BIDDER TO COMPLETE ITEMS BELOW

	AWARD TO BE MADE IN THE AGGREGATE. BIDDER MUST BID ALL ITEMS.							
Item #	Estimated Annual Quantity	Unit Measure	Description	Unit Cost	Extended Cost			
1	110,000	Sq. Ft	Cutting and removal of brush/grass Up to 18" High (including labor)	\$ ,04	#4400			
2	110000	Sq. Ft	Cutting and removal of brush/grass Over 18" High (including labor)	\$,08	\$8800			
3	500	Cu. Yd.	Removal of large branches, stumps, or shrubs	#30	\$15,000			
4	40	Ton	Trash / Debris removed from property and properly discarded (Per verified tipping receipt)) price per ton	#300	\$12,000			
5	200	Each	Televisions / Large Electronics	#10	\$ 2000			
6	300	Each	Tires	#55	\$16,500			
7	75	Each	Computer Monitors	#4	\$ 300			
8	250	Each	Mattresses	\$50	\$12,500			
9	200	Each	Box Springs	#5	\$1000			
10	150	Each	Air Conditioners	\$25	\$3750			
11	40	Ton	Brick & Concrete	\$100	\$4000			
12	30	Ton	Asphalt	\$100	#3000			
13	40	Each	Sleeper Sofa	#50	\$ 2000			
14	200	Container	Paint (gallon container)	#3	\$600			

Bumblebee

15	1,000	Cu. Yd	General Household Cleanout / Items removed from household/property and properly discarded (Per verified tipping receipt)	<b>\$55</b>	\$55,000
16	6,000	Sq. Ft	Cost for securing per square foot for accessible openings (cost includes labor, ½ inch CDX plywood, 2X4 pine lumber and carriage bolts)	\$3.50	\$31,000
17	1,200	Sq. Ft	Cost for securing per square foot for openings above 10 feet and other non-accessible openings (cost includes labor ½ inch CDX plywood and galvanized or stainless-steel ring-shank or comparable deck nails or screws every 12" around the perimeter	\$ 3.00	\$3600
18	48	Each	Eyebolts or chain with 45 mm master lock (all locks installed are keyed alike to master)	\$56	\$2400
19	48	Each	45 mm master lock only (all locks installed are keyed alike to master)	#50	\$2400
20	1,000	Sq. Ft	Cost for securing per square foot for accessible openings (cost includes labor, ¼ inch clear polycarbonate, clear hard plastic ½ inch brace and carriage bolts)	\$4.50	<b>\$4500</b>
21	500	Hour per person	Costs for repairing/erecting temporary fencing, backfilling large holes/burrows, or long carries (over 100 feet from debris to vehicle/dumpster)	#80	\$40,000
	\$ 199,900				

TERMS, PROMPT PAY DISCOUNT	$\cup$	% 30 DAYS, NET 45 DAYS.

DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 2 DAYS FROM DATE OF NOTIFICATION BY THE CITY.

NAME OF BIDDER Bumble bee Landscaping LLC

Bidders must state and identify the product offered, such as manufacturer's name, trade name, brand name and quality next to each item. WE MUST KNOW WHAT HAS BEEN OFFERED.

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract.

YES NO X		
Delivery to be made to: City of Word	<u>ester</u>	
This Bid includes addenda numbered	N/A	

## NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!

Pricing for Brush/Debris Removal and Boarding/Securing of Properties / Inspectional Services

#### BIDDER TO COMPLETE ITEMS BELOW

	Estimated	CD TO BE I	MADE IN THE AGGREGATE. BIDDER MUST	BID ALL ITE	VIS.
Item #	Annual Quantity	Unit Measure	Description	Unit Cost	Extended Cost
1	110,000	Sq. Ft	Cutting and removal of brush/grass Up to 18" High (including labor)	106	\$6,600.00
2	110000	Sq. Ft	Cutting and removal of brush/grass Over 18" High (including labor)	.08	\$9,800,00
3	500	Cu. Yd.	Removal of large branches, stumps, or shrubs	\$25.00	\$ 12,500,00
4	40	Ton	Trash / Debris removed from property and properly discarded (Per verified tipping receipt)) price per ton	# 330. OV	\$ 13,200.00
5	200	Each	Televisions / Large Electronics	\$30.00	\$ 6,000,00
6	300	Each	Tires	\$30.00	\$ 6,000,00
7	75	Each	Computer Monitors	\$10.00	\$ 6,000.00 \$ 750.00
8	250	Each	Mattresses	\$40.00	\$10,000.00
9	200	Each	Box Springs	\$5.00	\$ 1,000.00
10	150	Each	Air Conditioners	\$ 10.	\$ 1,500.
11	40	Ton	Brick & Concrete	\$ 100,00	# 4000.00
12	30	Ton	Asphalt	\$ 100,00	\$ 3,001.
13	40	Each	Sleeper Sofa	\$65.00	\$ 2,600.
14	200	Container	Paint (gallon container)	\$ 4.00	\$800.00

Strong NReliable

15	1,000	Cu. Yd	General Household Cleanout / Items removed from household/property and properly discarded (Per verified tipping receipt)	\$ 35,00	\$ 35,000.00
16	6,000	Sq. Ft	Cost for securing per square foot for accessible openings (cost includes labor, ½ inch CDX plywood, 2X4 pine lumber and carriage bolts)		\$ 36.000
17	1,200	Sq. Ft	galvanized or stainless-steel ring-shank or comparable deck nails or screws every 12"		\$ 7,200.00
18	48	Each	,	\$50,00	\$ 2,400.00
19	48	Each	45 mm master lock only (all locks installed are keyed alike to master)		
20	1,000	Sq. Ft	corriege helts)		\$2,000.
21	500	Hour per person	Costs for repairing/erecting temporary fencing, backfilling large holes/burrows, or long carries (over 100 feet from debris to vehicle/dumpster)	\$40.00	\$ 20,000.00
	\$181,750,00				

TERMS, PROMPT PAY DISCOUNT \_\_\_\_\_\_ % 30 DAYS, NET 45 DAYS.

DELIVERY AND/OR COMPLETION TO BE MADE WITHIN **2 DAYS** FROM DATE OF NOTIFICATION BY THE CITY.

NAME OF BIDDER Strong - N-Reliable Property Maintenance

Bidders must state and identify the product offered, such as manufacturer's name, trade name, brand name and quality next to each item. WE MUST KNOW WHAT HAS BEEN OFFERED,

SEE ATTACHED PAGE

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract.

YES	NO_	X				
Delivery	to be ma	ade to:	_City of V	<u>Vorcester</u>		
This Rid	includes	s adden	oda numbe:	red No	ne	

# NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!

Pricing for Brush/Debris Removal and Boarding/Securing of Properties / Inspectional Services

### BIDDER TO COMPLETE ITEMS BELOW

	AWARD TO BE MADE IN THE AGGREGATE. BIDDER MUST BID ALL ITEMS.							
Item #	Estimated Annual Quantity	Unit Measure	Description	Unit Cost	Extended Cost			
1	110,000	Sq. Ft	Cutting and removal of brush/grass Up to 18" High (including labor)	\$0.08	\$8714.70			
2	110000	Sq. Ft	Cutting and removal of brush/grass Over 18" High (including labor)	\$0.11	\$11,619.60			
3	500	Cu. Yd.	Removal of large branches, stumps, or shrubs	\$75.00	\$37,500.00			
4	40	Ton	Trash / Debris removed from property and properly discarded (Per verified tipping receipt)) price per ton	\$225.00	\$9,000.00			
5	200	Each	Televisions / Large Electronics	\$25.000	\$5,000.00			
6	300	Each	Tires	\$25.00	\$7,500.00			
7	75	Each	Computer Monitors	\$20.00	\$1,500.00			
8	250	Each	Mattresses	\$35.00	\$8,750.00			
9	200	Each	Box Springs	\$35.00	\$7,000.00			
10	150	Each	Air Conditioners	\$12.00	\$1,800.00			
11	40	Ton	Brick & Concrete	\$100.00	\$4,000.00			
12	30	Ton	Asphalt	\$100.00	\$3,000.00			
13	40	Each	Sleeper Sofa	\$75.00	\$3,000.00			
14	200	Container	Paint (gallon container)	\$10.00	\$2,000.00			

Callahar + Martalto

15	1,000	Cu. Yd	General Household Cleanout / Items removed from household/property and properly discarded (Per verified tipping receipt)	\$58.00	\$58,000.00
16	6,000	Sq. Ft	Cost for securing <b>per square foot</b> for accessible openings (cost includes labor, ½ inch CDX plywood, 2X4 pine lumber and carriage bolts)	\$5.25	\$31,500.00
17	1,200	Sq. Ft	Cost for securing per square foot for openings above 10 feet and other non-accessible openings (cost includes labor ½ inch CDX plywood and galvanized or stainless-steel ring-shank or comparable deck nails or screws every 12" around the perimeter	\$9.00	\$10,800.00
18	48	Each	Eyebolts or chain with 45 mm master lock (all locks installed are keyed alike to master)	\$110.00	\$5,280.00
19	48	Each	45 mm master lock only (all locks installed are keyed alike to master)	\$60.00	\$2,880.00
20	1,000	Sq. Ft	Cost for securing per square foot for accessible openings (cost includes labor, ¼ inch clear polycarbonate, clear hard plastic ½ inch brace and carriage bolts)	\$15.50	\$15,500.00
21	500	Hour per person	Costs for repairing/erecting temporary fencing, backfilling large holes/burrows, or long carries (over 100 feet from debris to vehicle/dumpster)	\$65.00	\$32,500.00
,	\$266,844.30				

TERMS, PROMPT PAY DISCOUNT \_\_\_\_\_\_% 30 DAYS, NET 45 DAYS.

DELIVERY AND/OR COMPLETION TO BE MADE WITHIN **2** DAYS FROM DATE OF NOTIFICATION BY THE CITY.

NAME OF BIDDER Callahan & Montalto Site Construction LLC.